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1. Consider the following circuit. 

(a) Find 11 and Iz. (10%) 

(b) Find power dissipation of each resistor. (10%) 

(c) Find power supply of each source. (10%) 

5V 

4kO 

lOY 
2kO 

5mA 

2. Consider the following circuit. 

(a) Draw time domain waveform of the two voltage source. (10%) 

(b) Find i(t). (10%) 

(c) Calculate i for t=2 sec and 6 sec. (10%) 

40 60 

20u(t)V 40 

lOu(t-5)V1 

.. i(t) 

2H 
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3. Consider the following circuit 

(a) Find i(t) (10%) 

(b) Find vet) (10%) 

i(t) 600 
... 
+ V(t) ~ 

20cos(4t-ISO )V 10mF 5H 

4. Consider the following circuit 

(a) Find Thevenin equivalent circuit between a and b. (10%) 

(b) Find Norton equivalent circuit between a and b. (10%) 
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